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2. (25 f1:IIUU) Determine all joint displacements of the frames shown in Fig.2, then draw the bending moment

diagrams for the frame.
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3. (30 f1:::~~'U'U) Using the moment distribution method, determine all end moments of the frame in Fig.3. and evaluate

the vertical reaction at the support C.
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4. (30 fl::lIl1l1) Determine all end moments of the frame shown below and draw its bending moment diagram (Hint:

the successive sway correction moment distribution may be employed).
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5. ( 25 fl::LL'IJ'IJ) Find all end moments of the frame shown in Fig.5, treated the members with relatively large KL as

beam-columns but neglect axial deformation effects. (E = 2xl08 kN / m2
I I = 4. 2 Oxl 0-5 m4

, and

Q = 970 kN).
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k.. = EIK(KLcosKL-sinKL)
lJ (KL sin KL + 2 cos KL - 2)

(sinKL-KL)c ..= ----------
JI (KL cos KL - sin KL)

M ..= w {(KL+KLcosKL) -2}
FIJ 2K2 sin KL

M ..= _ w {(KL+KLcosKL) -2}
FIJ 2K2 sin KL



M F"' = Q{ KL cas Kb + sin KL - sin Ka - sin Kb - Kb cas KL - Kb}
lJ 2K(2-2casKL-KLsinKL)

M F"' = _Q{ KL cas Ka + sin KL - Ka cas KL - sin Kb - sin Ka - Ka}
:JI 2K(2-2casKL-KLsinKL)


